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Mathematics-1 for Computer Science Engincering Stream (BM ATS101)

TIME: 03Hours M ax. Maris: 100

J Mote: dnswer ay FIVE full .||Ju'5.'n'.'|.'r|, chooxing o feast ONE guestion from eqch

Model Question Paper- I with effect from 2022

CBCS SCRIEME

First Semester B.E Degree Examination

MODULE
2. FTU! Formula Hand Book is Permitied
3 M- Marks, L Bloom s level, O Course oufconies

d
2 | With usual notation prove thut tan ¢ = rd?—.

-

T

: (0
Find the anglebetweenthe curves r = alogd, r=——
log &

Show that the radis of curvature at any porni of the cyeloid

r=al@+snf), v=a|l—cosdl) iy da -::us[g].

Show that the curves
r=a{l+sin8) and r=all4 sin # )cut cach other orthagomally,

-II‘I";

| Find the pedal equation of the curve 2a _ (1+cost)
il

Using modern mathematical tool write 8 pmgrn;'n-'.nndn o plot the curve
= 2lcos20).

2

L || Expand log{see x) byMaclaurinsseries up 1o thetermeontaining 2. Sl RF
O u = gl flax — by), prove lhntb_i+aﬁ=2d'buby usIng Lol
concepls composite functions, o 2
| o | Find the extreme values of the function (3, ¥} =2+ 3" —3p' -3 +4 13 | oo
- |
QA | | Evaluate (i) Jim (), (i) tim (2 i La o




Model Question Paper- 1 with effect from 2022

L]_.l:'., bl i ._|
Tx+y+r=u,y+z=uv,z=uvw find [—1-
{'H: .V, u’}
Using modern mathematical 100l write o program/code to show that | oMl
Moy + thyy = 0 given u = ¢ (x cos(y) =y sin(y)) — J
war. g
Solve; dx R Iy Xy
] 1 T ! _'. 1 { ‘Trl
Find the orthogonal tmjectories of '-I-Ia $ hf!-_.-l =1, wherglis =»
i i
parnmeter
Solve #}Fr—li;+lq'rlﬁ+:lp=u : E .I = B
DR _

Snlwl-":*l'a'l']fﬁ*tl'd}'-‘ﬂ } L2 2

When a switch 15 elosed in a cirewit comurming a battery E, a resistance . - e

R and an mductance L, the current i build up at a rate given by ' 5

L%+Jﬂ = £ . Fimnd i n5'a function of 1. How hmg will it be, before the

current has reached one-half its final value, if E=6 volis, R=100 Ohms

and L=0.1 Henry?

Find the gencral solution of the equation { px—y){py +x)=a"p by + M1z leoos

reducing into Clairaut's form by taking the substitution X' =%, ¥ =3",

I'l-lll‘llal_' j

Find thie least positive values of ¥ sipch that ¢ lry s

(i) 71 = x(mod 8)(ii) 78 + x = 3 (meod 5){iid) 89 = (x + 3)(moed4) '

Find the remainder when (349 % 74 x 36 is divided by 3, ritiz ews

Solve:2x + 6y = 1(mod 7) and 4x + 2y = 2(mad 7). 5 [z Lo

LY

(i) Find the tast digit of 7" (if) Find the ks digit of 137, s |12 lcoa

Find the remainder when the umber 2™ s divided by 13. 7 s leas
. | Fimd the remainder when 14!1s divided by 17, 13 | i ll

i B L bl abalstalsho DR BRSO (UL LA R DA A LA A R A A2 1. 4
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22PHYS12/22
‘Model Question Paper-I with effect from 2022-23 (CBCS Scheme)

oo T[T [L[IL]]

First/Second Semester B.E. Degree Examination

J i 114 {0 gt LIve it t 11
TIME: 03 Hours Max. Marks: 100
Note: 01, Answer any FIVE full questions, hoosing at least ONE question froen each MOD ULE.
02, Draw neat sketches where ever necessary,
03. Constants : Speed of Light "¢ =3 =10"ms ', Boltemann Constant k' = 1,38 =100" JK7,
Planck’s Constant ‘i = 6.625 « 10™ Js, Accoleration due 1o gravity "g = 3.8 ms

Permittivity of free space ‘e'sB.054 <1077 Fm

*Bloom"s
Muodule -1 Taxonomy  Marks
_ DU D N i ] te
Q.01 |4 | Define LASER and Discuss the interaction of radiation with matter, L2 7
b | Define Acceptance angle and Numerical Aperture and hence derive an 13 a
| expression for NA in terms of Rls core, cladding and surrounding.
¢ | A LASER source has a power output of 10° W, Caleulate the number of
photons emitted per second given the wavelength of LASER 6928 I3 5
nanometer.
- == OR
Q.02 [a | lustrate the canstruction and working of Semiconductor LASER with 4 ' (2 q
neat sketeh and energy lovel diagram also mention its applications. |
b | Discuss the types of optical fibers based on Modes ol Propagation an L2 .
RI profile. I
c | Obtain the attenuation co-efficient of the given fiber of length 1500 m 13 | 5
given the input and putput power 100 mW and 70 mW.
Module-2
Q.03 |a | Setup Schrddinger time independent wave equation in one dimension. | L2 |
b | State and Explain Heisenberg's Uncertainty principle and Principle of L3 - 1
Complementarity.
= | An electron is kinetic energy 500 keV is in vacuum. Caleulate the group
velocity and de Broglle wavelength assuming the mass of the moving L3 5
glectron is equal to the rest mass of electron,
OR
.04 | a | Discuss the motion of a quantum particle in a one-dimensional infinite
potential well of width ‘a' and also obtain the eigen functions and L2 10
EneTEY Eigen states. -
b | Explain the physical significance af the Wave Function. L2 5
c | The speed of electron is measured to with in an uncertainty of 2 * 10°
ms™ in one dimension, What is the minimum width required by the L3 5
electron to be confined in an atom?
Module-3
(.05 | a | Define a bit and ghit and explain the properties of qubit. L2 6
b | Discuss the CNOT gate and its operathon on four different input states. L2 B
¢ | A Linear Operator *X' operates such that X [0} = [1) and X |1} = 0}, L3 8
Find the matrix representation of 'X"
OR
Q.06 | & | State the Pauli marices and apply Pauli matrices on the states 10} and | L2
1),
b | Flucidate the differences between classical and quantum computing. L2
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Model Question Paper-11 with effect from 2022-23 (CBCS Scheme)
s | I T R

Fll'Et"EEtn-rld Semester B.E. Degree Examination

[
'III , .l.”'l.-\.,--"'l 1 ...,Itl r IR Tig=:ill

TIME: 03 Hours Max. Marks: 100
Note: 04, Answer any FIVE full questions, choosing st least ONE guestion from each MODULE.
02, Diaw misil sketchis where ever necessary e
03, Constants : Specd of Light 'c” = 3 =10" ms”, Boltzmann Constant * k'=138 =10 IR,
Plnck's Constant 'h' = 6625 = 10 K, .-\rwlrr.nllnn due to gravity 4'=98 ms”,
Permittivity of free space 'y’ =B854 10 “ Fm '

E E *Bloom s
Module -1 Taxonamy | Marks
e - Im*
: .01 | a | Obtiin the expression for Energy [Jm:iw using Einstein’s A and B L2 a
coeificients and thus conclude on By .
b | Describe anenuation and explain the varinus fiber losses, L2 7
¢ | Given the Numerical Aperure 0.30 and RI of core 1.49 Calculate the 13 .
critical angle for the core-cladding interface,
DR
F .02 | a | Discuss the applications of LASER in bar-code scanner and LASER L2 9 |
m h 'Dis.russ Point o Paint communication using optical fibers. L2 6 j
w ¢ | Calrulate the mtio of population for a given pair of ensrgy levels |
v corresponding to emission of radiation 694.3 nm at a temperature of 300 13 5
. K.
I = Module-2
w Q03 |a | Derive an expression for dle Emgl.l_u wavelength by analogy and hence 12 i
discuss the significance of de Broglie waves.
w b | Explain the Wayve function with mathematical form and Discuss the L2 9
W physical significance of & wave function,
c | Calculate the energy of the first threée states for an electron in one L2 s
w dimensitmal potential well of width 0.1 nm,
DR
W Q04 | a | Explain Eigen Functions and Eigen Values and hence derive the eigen
ti function of a particle mside infinite potential well of width *a’ using the 12 10
method of pormaelization.
b | Show thar electron does not exist inside the nuclens using Helsenberg's L2 -
uncerainty principle,
ﬁ ¢ | An electran |s associated with a de Broglie wavelength of lnm. L3 5
Muodule-3
w .05 | & | Discuss the working of phase gate mentloning lts matrix representation L2 6
"W and truth table.
,g b | Explain Orthogonality and Orthonormality with an example for sach, L2 f
¢
‘_"" Cifven Jyrp = (:;] andd |ght = @;) Prorve thin (o) = (b} L3 8
~ -
v. Qo6 |a the representation of gnh!tusgg Bloch Sphere. L2 3
Ii E b 'i:p.’llin Single qubit gate and multiple qubit gate with an example for L2 8

|
|

i
]
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€ | Explain the Matrix representation of 0 and 1 States and apply identity L3 6
operator 110 |0 )and] 1 ) states,
Module-4
Q.07 | a | Enumerate the failures of classical free electro ﬂu-nnl ant] assumprions L2 7
of quantum free electran theory of metals,
b | Explain Meissner's Effect and the variation of critical field with 1.2 8
lemperiture.
€ | A superconducting tin has 4 critical temperatee of 37 K af zert
magnetic field and a critical field of 00306 Tesla at © K. Find the critical L3 2
field ar 2 K. B Sdats Lo -

o
>
.
o
>
>
v
@__ OR
>
>
g

Q.08 | a | Explain the | Fll"H"I'H'I-I'I'Il?I'IﬂH ol '.L|.|1-r'ru:|m|||1|:|vh1r' and Discuss [||u||!ﬂn'l.-'l.lj,'
the BCS theory of superconductivity for negligible resistance of metal at L2 )
temperatures close (o absolute zero = i =
b [ Glve the quallsative explanation of RF Squid with the help of a neat L2 5
skeich,

¢ | Find the temperature at which there is 1% probability that a state with an
energy 0.5 eV above L3 5
Fermi energy Is occupled.

Mnduj.bs v e -
a | Elucidate the impomance of size & scale and weight and strength in L3 g
anmimatinns,

b | Mention the general pattern of monte Carlo method and hence determine
the value of n.

€ | Describe the calculation of Push time and stop time with examples. L3

[
]
R =
4 | Sketch and -expldin the motion graphs for linear, easy ease,gasy ease in £2 a
7

L2

and PASY PASE nu.t CAsEs ufallimatinn

Ty e

¢ | A slowing-in object in an Elnhha!lun has a first frame distance 0.5m and
the first slow in frame 0.35m. Calculate the hase distance and the
mumber of frames in sequence,

*aloom® s Taxonomy Level: Indieats as L1, L2, L3, L4, ec. It is also destrable to indicate the COs and POs o be
tained by every bit of questions.

G







2ZETC15H/25H

Model Question Paper-U11 with effect from 2022-23 (CBCS Scheme)

USN

|| [

First/Second Semester B.E. Degree Examination
Introduction to Internet of Things (10T)

TIME: 03 Hours Max. Marks: 100

Note: 01, Answer any FIVE full questions, choosing st least ONE question from each MODULE.

*Bloom’s
Module -1 Tuzenomy | Marks
‘= ; i . = Level
Q.01 |a| Name the four broad categories ol compuler network based on | L1 g
reachability and explain them brietly.
b | Differentiate between loT and M2M. Ll 6
¢ | With a neat diagram explemn the network communicution between bwo & q
hosts following the OS] model. Ll
' OR
Q.02 [ = | Whatis Lo/ Write the characteristics of [oT System. Ll 5
5 b | With o neat diagram explain the inter dependency technology for loT 12 10
Planes.
¢ | With a neat diagram explain Internet prosocol suite. L1 5
Module-2
Q.03 |a With o neat diagram explain the working mechanism of actuator. T &
b | Explam the types of actuators, Ll E
¢ | Define sensor and explain the characteristics of sensor. L2 &
OR
.04 [ a | List and explain the charactenstics of Actuators. L2
b E:cphhth:majurmmuﬂmﬂmﬂwthniwufmmmrﬁ-hmnd L1
sensing sofutions.
~ " With & neat diagram explain scalar and Multimedia sensing technics. Ll 4
Module-3
G508 a | List and explain common data types in loT applications L1 5
b | With o neat diagram expluin uffsite processing topology. L1 10

e Page 01 of 02




22ETCL5H/ 250
ﬂﬁuammmmmm Ll 3
| OR
i 'ﬂlaﬁ" ' W-mmmmiwwnmw Ll 5
T Expiain 19T Device Design and Scloction Considerations 12 ]
wﬂnnﬁmmmamndmsimummamﬂ-mm L1 T
Module-4
[Q07 [ | Define Virtaalization. Disciiss advanitagos of virtualization Li 8
b wmmmdymhwdmsmuﬁpﬁmuuwuﬂem L2
€ mﬁnhﬂpu{mﬂdh;lmmphmhﬂfnhuﬂm& L] 3
' OR
|Qor 7 & meat diagram Explain Architeoture of 8 sensor-cloud platform 0 5
- b m;mmnphhwmnmmmm Ll |
3 Wﬁﬂgu@nfwwmdeﬂhmmmﬂmﬂ T 7
computing and cloud computing
: Module-5
Qﬂﬂ a Wﬁ:nﬂﬁmwﬁh@ﬁ:ﬂiﬂﬂdvﬂhﬂ L1 T
B Niachine Tsarning and cxplain fhe advantages of ML. Ll 0
m-mmwm'-mm Tl 7
_ TOR
- [@la Tist the advantages of vebieular [oT. W 7
e Wil 2 st Giagrarm expiain the types of Machine lesrming Li 3
o — yiritc note on advaniages and risk of healthearc IoT. Ll 7
- . Licet—3 & S

¥ sngril) md

n.-_h_

T

=

;l'_"la‘
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Model Question Paper-1 with effect from 2022-23 (CBCS Scheme)

Finﬁunniﬁam ester B.E, Degree Examination

Introduction to Internet of Things (10T)

TIME: 63 Hours Max. Marks: 100
Mote: 01, Answer any FIVE full questions, choostig al leasd ONE guestion from each MODULE.
.'Iﬂﬂ.'
Modile «1 Tazonomy | Marks
- - - S e m—— —— ————— —_— t.ﬂﬂ ——
Q.01 | a | Classiy network types based on physical topologies snd conneotion fypes with L2 ‘o
schemntic diagrams, - il
b | Explain the §oT planes, vrious enablers of 1oT, ol the complox L2 10
| interdependencies among thiem with a block dingram.
OR
Q.02 [a | Expinin networked commumnication betwoen twe hosts fallowing the TCHIP L2 o8
suite with a block diagram.
b | Qutline the interdependence and reach of loT over various application domains 12 o8
¢ | Summarize the charngtesistic features of IoT systems. 12 4
Mudule-2 . 1
Q.03 | m | Qutline the basic differences between transducers, densors, and eetuators. L2 o6 |
¢ | Compare mechanical, soft, and shape memory polymer based actuators. Lz 5
b | Classify sensing types based on the nature of the environment and the physical L2 03
EENSOTH.
OR
Q04 |a ; Compare the common commercially available sensors used for JoT-based 2 06
b | Outline a simple actustion mechanism. ¥} 06
¢ | Explain four common characicristics sctuators used for selectios, E2 08
Module=3
Q.05 | a | Explain event detection using an off-sit remote provessing fopologywith & L2 10
block dingram.
b | Explain the datn offlonding strategics: Offiond location and Offlond decision L2 1o
making.
OR
Q.06 (a Contrest betwean structured and unstructiured data, Outline variows data L2 10
geverating and storage sources with a block schematic,
b | Outline an IoT deployment {processing effloading) with the various leyers of L2 10
processing involving different application damains with a dingram,
Module-4
Q.07 |a luin the architeotere of @ smar iFmgation menagement system. 2 06
b | Classify the deploymen model of Cloud with relevant explanat:on. L2 06
¢ | Explain the importance and metrics of Service-Lovel Agroement (SLA) in L2 o8
Cloud Computing.
DR
Q.08 |a Clasgify virualization based on the requirements of the users. Explain, L2 08 |
b in archatecture of o sensor-cloud with bock di . 12 08
& Eeian e fosres of Cloudiin. 2 | o
_ Module s
wwmmmmﬂhﬁmm 19
Page 01eof02
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Principles of Progranvm '

TIME: 03 Hours

12POP13

Model Question Paper-1/11 with effect from 2022-23 (CBCS Scheme)
1 BEEES

First/Second Semester B.E. Degree Examination

max. Maorks: T

Note:  Answer any FIVE full questions, choosing at least ONE question from ench MODULE.

o4 o)

Maduale -1

*Bloam's |

Toxonomy | Marks

RN QRIS AR o BAT L (Aol /o)

L T L — = I‘l-*d_
{001 | a | Pefine computer, Describe the various types of comguters hased on spoed, L] 8
memory and cost, v : e e e I .
b | Develop an algorithm 1o find the area and perimeter of A cirche. Also define an L2 fi
algonthm, 1 ’
¢ . LI 6
Write a short note on the characteristics of a computer =
nR -  —
Q.02 | & | What s variable? What ure the rules to construet vriable? Classify the followmg Ll 8
a5 valid' bvalid dentifiers,
i) numa ii) $rum | iii) radd iv) a2 vj 199 space n) _apple vil}12 .
| b T raw a fowchart and C program which takes as mput p,t.r: Compute the simple 12 i
i nterest and dasplay the result, . .
| © | Write 4 note on (he following vpcrators. i Relational i) Logieal i) Conditional & |
' Module-2 I
0,03 | o |DevelopaC Erugnm That takes three coefficients {m, b, and o} of a guadmtie L3 B
equation ; [ax’ + bx * ¢ as inpot and compute all possible roots feriel print 1
| with appropriate messiges,
b | Explain the working of gote statement in C with example. L2 [
c L2 i
Explain switch statement with syntax and example
‘ QR
Q.04 |a | Develop a <imple calculator progrom in L language 1o do singple pperations like 13 L
addition, subtraction, mulnphcanon and division. Lse switch statement in your
program
b LI )
Explain with examples formatted input outpul statemnents o €
c | Explain with syntax, if and if-glse statemcnts in C program. L2 7
Maodule-1
Qo5 |a w:iuucmgimm-minnnrznmhmu:mg:n]]hyrdhmemm:aub}- L3 ]
winlue,
b -
¢ | Discuss the implementation of user defined function with suitable example. L2 o
: OR :
Q06 | a Wﬁmlﬂpmgrﬂnmﬂulﬂjumrdwtnrm.m-gmmmz_. 1.3 8
T T Explain the working of recursion with suitable sxample. 12 3
= | Rwnluin the Aarlaratios and initialisatinn O e T R T dprrmrariamnal 19 A

AN

A L L ——
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' Model Question Pa

LS8N

1 ) o D

First/Second Semester B.E. Degree Examination

TIME: 13 Hours

mare;  Answer nny FIVE full questiotm, choosing il |eant ONE

22xxxx XX

per-1/11 with effect from 2022-23 (CBCS Scheme)

Max. Marks: 100

fjuestion from euch MODULE.

- = _ . _*Hlmn".l
Ploddule -1 Tavanamy | Murks
e ——— — b vyl
Q01 & | Expluin the componnts of & coinputer with 4 aeat disgram, 1 f
b | Describe any. three Iﬁﬁﬁl. devives - ___- o . = 6
| ¢ | Design an algorithm, fowechar! and program to compute ares of & ciecle 1 H
: DR i
Q07 |a | Define identificrs and explain its rules. Staie whether the followirg identifiers are 3 f
walld of invalld with jestification,
i Sl no
bl I T B _pame 113
i if
i, Mama 123
b | Bummorize the formutted input and output stmements with suitable syntax apd 2 B '
exseple < —— =i
c | Explain the SDLC life cyels for the efficient design of a program with & neat 4 ]
dagram.
Muodule-1 = ==
[Q.00 | | Deseribe ay 4 types of epesators in C with example ) 2 fi
0 b | Differentiste hotween type conversion and type casting in C 4 L)
¢ | Wrile a progrnm to compute the roots of guadratio squation by pecepting 3 3
confficients — :
- {}H e T —
@04 [ a | Define looping Explam while and do-while with suitahle caumple 2 &
b | Implement a C progeam to simulate & simple caleulitor hat performs arthmesical | 3 fy
operations using witch stutements.
e | Bxplain unconditional statements with exsmple 2 )
@ 05 | u | Explain the syntax of Function Declaration and Function Definition with 3 6
example,
b | Write 8 C program 1o swap two integers using call by value method of passing 3 B
arguments o 4 function. == |
¢ | Describe diffcrent types of storage classes with example, 2 E
OR 0
Q.06 |0 What is m array? Explain how rwo dimensional amays are declared and 2 B
initialized.
b a-tmmﬁnﬁmmnhhimmb; 3 e
c | Discuss any three operatioas that can be performed on amays with example. 3 ]
Pageor0r0z.

R s



e

: Module-4
& | What are strings? Mention delferent operations (hat can be performed on strings? | 2 B
y two with an example” T
b | Explain army of strings with an example? 2
| Discuis the warking of The Tallowing atring, manipulation fusctions with swiabie | 3 "
code
Dstrchr i wirspn () stremp V) alrepy
' : R
Q.08 [a | Define poutersand explain how fo declare  poinier varinblc? 2 ]
Differentiate nll pointer sl void pointer with suitable expmple’?
b %;mpmwmmmmhmiupﬂﬂmuqu-mﬂh I ]
functicns?
¢ | Write a program 1o prant all even mumbers from m to n usng pointers'! 3 5
Q.09 |a Whnumm?ﬁnlﬂhﬂmmﬁmﬂmhﬁmmﬂlnmgﬂl 2 :
b | DNfferemtizte between Structure md Unmn. i 3
€ ﬂm;ﬂmmmnmrﬂuf“u mh:lmdﬂaﬂ:unu;mmnf 3 ]
structures with four fields {roll o, name, nsarks and grade) Assume appropriste
data type for each fleld, Print the nanes of the student with marks—70,
0 OR F
Q.10 |a iy 1O srenm and Dhats 1P siream used in files, 2 &
b Enumerated data type. Explain the declaration and access of enumersted | 2 3
mt:ﬁm:mﬂtmﬂ
= | Wiite & fumction to perform (e following 1) Read data from a ficii) Wriie data o | 2 B _
alile

"hhumﬂwhﬂ: Indicate a5 L1, 12, 13, L4, efe. It is atso desirable to wmhthnm-#mtn;
attained hwmqu

[ 1

..—'Eﬂﬂ"';:--r L e &
' r'-*"-_lmmln |-_| b
d -l m ..‘ -
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Model Question Paper-1/11 with effect from 2022-23 (CBCS Scheme)

1
LISN _I | = | | |—'—|
e S EEAEEEEE
D First/Second Semester B.E. Degree Examination
L4 PRINCIPLES OF PROGRAMMING USING €
!l , TIME: 03 Hours Max, Marks: 100
W Note: 01, Answer any FIVE [l questiotis, chogsing at least ONE question from each MODIT E.
B 02, Uine © code snippet fo Hastrute o apeciflic ode design or # purpose
| = | *Bwonrs
Maschule <1 Taxanamy | Varks
. R ==
B .0 w Explun the sructure of € progrom in ietnll. Weite a smmple pregeam o | . &
D demtiopstrate the componeats in the stmctire of L progrsm
1—? b | Demonstrate formatted output of imteger in © with suitable :xumpqu =k L]
v o | Thscuss different fypes of GrTor ocour in progrm 12 IC
' — & | =
p Q02 | a | Explun the varous rules for forming dentifiers names. Give examples for valid 13 | 8 i
T‘? and invalid identifiers for the same.
TY | b Meorionvanous ovipat devices and explain hardeopy devices Ll | 6 |
v ¢ | Discuss the vanoots of nn:ruuuﬁnpu!:r that are widely used Joday L2 |6
 Moduke-2
Q.0 Demonstrate the functioning of Birwise operator n C L3 [3
“ﬁ b | Write a € program to find roots of quadratic equation 3
- = Distinguish between the break and continue statement | La 6
‘ﬁ . - Al
v Q04 | a | [Muostrate Nesled loops in C with suttable example L3 [
ﬁ & | Write & C program to print whether a given rmmber 15 palindrome or not 3 7
ﬁ = © | Explain switch statemnent with syntax. Wnite 8 ¢ program to simlate calculator L3 7
v oduled
w 0. 05 | a | Write a C prograii 1o implement Bubble sorl techricquelascending order) L3 &
ﬁ b | [hustrate the concept of recursive function with example L3 ]
w ¢ | Discuss various seope of variables 2 ]
B DR
f Q.06 |a Differcntinte between call by value and cull by reference. Using suitable example | L4 a
E Wriuar:nugummnmmpmnmmmm L3 [
o | Discuss the various storage ¢lesses 4
Moduled .
ﬁ Q.u7 aumﬁmmmmnﬁmuwumhpufm“mm}ﬂlm-mu 8
ﬁ functions. Explain any tWo function :;I
i b m;qu-pﬁummﬂ_mmmmﬁumﬂuﬂu 8 ‘
-—:
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- 22P0P13
devintion of all element stored in By of N real number
¢ | Explam huu.r !.'m.ng:l are hq1r:'m:11h.*|.'l T ——— == L2 4
e Cemge B |
Q.08 [a | Wrica program fo cnmpare two sTnEs without wsimg built-in funetion 3 M
e — —ll_.—l_'_'__
b | What i pointer? Discuss pmn‘lcr arimetic with wh ableC code L2 ]
R — — =
¢ | Explain et i -pul-ﬂ hune L with nnm-ph' 13 L
— T ModuieS Za= e
Q.0 | Ft_p'lmn Cnfious modes 1n wiich file o e petied foe processing 2 iy
b | Tmplement strueture to i wiile and corTpuiE Average ks of the wiudents, | I3 R
List the students sconng ppove anid below the average wairkn for  class of n
sludomis
=1 "What are enumeration varmble? Hot ey dadd = S} A
——— — 5 N
Q.10 |a | Wrz2a short note on Tupction: tsed 1o L1 R
Read datw from a file
Wriic data to a file
b | Differentiate struchures and unions with syrtax sad example L4 f
& | How 1o dotoct EMD-OF-FILE 12 | & j
Table showing the Bloom’s Taxonomy level, course putcome and program outcomes |
 Questions Bloom's Taxonomy Course Outcome Program Qutcomes
al a ) Col POLPOZ
b L3 — cbe POLFOZ
e L2 coZ PO1,POZ |
Q.2 a L2 co2 pO1.POZ
b Ll ol PO
. L2 col PO1
a3 & 13 co2 POLPO2
b L3 c02,C05 POLPO2,PO3
B [ LA coz POLPOZ
a4 @ L3 oz pO1,POY
b a3 02,05 PO1,POZPO3
B == L3 C02,C05 POLPOZ
a5 a L3 Co3 PO1,POI, PO3
b L3 €03,005 PO1,FOLPO3
U 3 L2 coi POLPO2
a6 |a L4 o POL,POZ,P03
b L3 £o3 POLPOZPOS
e L o2 pO1,PO2
a7 |28 L1 Cos PO1,POZ, PO3
b L £04 PO1,PO2,PO3
_ c L2 coz POl
o8 |2 L3 cos PO1,PO2PO3 g
b 12 cos PO1,FO2 ;
= 12 o2 PO 1
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Course Code-I2ESC142

Model Question Paper-1/11 with effect from 2022 (CBCS Scheme)

LTEN[_

TEE (5 .

First Semester BE Degree Examination
Course Title — Introduction to Electrical Engineering

TIME: 03 Hours

Note: Answer any FIVE full questions, choosing al least ONE question lrom coch MORDULE

Max Marks: 100

Q. No. | = Muodulel Murks |
. | With neat single line diagram explain the various steps of electrical power |
transmission nnd distribution system, :
b | State and explain Kirchhoff's current and voliage law A= 06
Q1 A circuit of two paralle] resistors having resistances of 2002 and 3062 connected in
series with 1500 If the current through 150 resistor is 3A. Find i) current in 200Q 08
© | and 3062 resistors i} voltage ncross the whole circuit 1i1) the 1otal power and power |
consumed in all resistors. | =
OR
a | With block dizgrem explain hydel power generation. 0
b _| State and cxplain Ohm’s law with its limitations. 06
¢ | For the circuit shown in fig (1) find the current in 2£) resistor.
J,Lun "l(“: D
Q2 203
) o - v 0%
A
mgi)
Module 2 §i
Define the following by referring @ sine wave i) RMS value ii) average value i) | o
A | form factor iv) peak factor v) phasc and vi) phase difference.
Show that the current through purely capacitive circuit leads the applied voltage by
b | 9P and average power consumed is zero. Draw the wave shapes of current, voltage | 08
s and power. ' -
An inductive coil takes a current of 10A froma supply of 100V, 50Hz and lags the
¢ | voltage by 307 Calculate i) parameters of the circuit if) power factor i) active, | 06
reactive and apparent power.
OR
With the help of circut disgram and phasor diagram, find the phose angle, [ o
& | impedance and power in case of R-L series circuit.
A circuit consists of 2 resistance of 2062, an inductance of 0.05H, comected in
Q4 | series. A single phase supply of 230V, 50z is applied across the circuit, Fird ) | o
i i) eurrent iii) power factor iv) power consumed by the cirouit v) voltage
drop across R&EL vi) draw the vector diagram.

e T .



e r:i'ﬂ.ﬂiIrI are connecled in star

Three coils having resistance of 1062 and induots
o, power factor and

across 440V, 50Hz three phase supply, Caleulate the line curre

(6

total power consumed. ME—

UL

With o neal diagram explain the constuction of [.C. generator

08

Derive an expression of armmatire t aryque developed in s . C. motor.

An § pale genermtor has 500 armuture conductors and has a useflil flux per pole of

0.065whb, What will be the emf gencrated i it ia lnp connected and runs at
1000mm? What st be the speed ut which it is to be driven to produce the game

04

emfif it is wave wound? J
OR

T Explain the varions methods used to control the speed of D.C. series molar.

08

A 4 pole D.C. shunt motor takes 25A from a 250V supply. The armature and field
resistances ure 0,561 and 1250} respectively. The wave wound armature has 30 slots
and each slot containing 10 conductors. If the flux per pole s 0.02wh, calculate i)
speed i) torque developed iii) power developed.

08

With usual notations derive an emf eguation of D.C. generator,

""" Module 4

Q7

Derive the emf cquation of & transformer and hence obtain the voltage and current
trans formation ratios. i

With ncat dingram explain the types of three phase induction motar.

A transformer is rated at 100 KVA. At full oad its copper loss is 1200W and its
iron loss is 960W. Calculate: i) the efficiency at full load, UPF ii} the efficiency at
half Toad, 0.8 p.f. iii) the Joad KVA at which maximom efficiency will occur iv)

maximum efficiency at 0.85 p.t.

OR

QH

Explain the various losses in a transformer and how o minimize them?

With diagrams expluin the concept of rotating magnetic field.

&=

A three phuse induction motor with 4 poles is supplied from the alteraator having &
poles running at 1000rpm. Calculate synchronous speed, rotor speed of the
induction motor when slip is 0.04 and frequency of the rotor emf when the speed is

&

G0mpm.
Maodule 5

With peat circuit diagram and switching table explam two way and three way
control of load.

With disgram sxplain the working of fuse.

Whit is carthing? With neat diagram explain the pipe earthing
oR

Q10

Define “unit” used for consumption of electrival energy and explain the two part
tariff with its advantages and disadvantages.

What i electric shock? Give the list of preventive measures against the shock.

List out the power rating of household appliances including ar conditioners, PCs,
luptops, printers, etc, Find the total power consumed.

RIR 2| IRE|8

A R R R R SRR RN R B A SRS A AL AL
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Table showing the Bloom's I axomomy my Level, t :runr Uulwﬂﬂt and Progrom | roim Outeome
Bloom's Couie
Question | Taxonomy Level fea Program Qutcome
ulcome
| attached £ _—
a L2 COs | P01, PO, PO3, POS, P06, POT, POB
Q1151 L2 col | P01, POZ, PO3, POS, POG, POT, POS
¢ B E [ CcD2 rnl P02, PO3, PO4, POS, POG
s L2 COl | POI, PO, PO3, POS, POS, POT, POY
Q.2 | b 12| Cco1_|POi, P02, PO, POS, POG, POT, POB
I L3 Coz | POI, PO2, PO3, P04, POS, POS
a L2 CO1 | POI, POZ, PO3, POS, POS, PO7, POR
Q3| L4 C02 | POI, POL, PO3, P04, POS, POS
C L3 CO2 P01, PO2, PO3, PO4, POS, POG
a L3 CO2 | POL, POZ, PO3, PO4, POS, PO6
Q.4 b L3 Co2 | POI, POZ, PO3, P04, POS, POS =
¢ L3 CO2 | POL, PO2, PO3, PO4, POS, PO6 |
a L2 CD3 | POI, POZ, PO3, PO4, POS, PO6, POT, FOS
Q5 | b L3 CO3__| POI, POZ, P03, PO, POS, POS, POT, POS
¢ L3 CO3 | PO1, POZ, PO3, PO4, POS, PO6, POT, POS |
g L3 cC03 POL, POZ, PO3, PO4, POS5, POS, POT, POS
0.6 | b L2 CO3 | POIL, FOZ, PO3, FO4, POS, PO6, PO7, POB 1
¢ L3 CO3 | POL, PO2, PO3, P04, POS, PO, FOT, POE |
a L4 CO4 | POI, PO2, PO3, PD4, PO6, POT, POS
Q.7 b L2 C04 | PO1, POZ, PO3, PO4, POS, PO7, PO
¢ L3 COd P01, PO2, PO3, PO4, FOB, POT, POS
a L2 C03 P01, PO2, PO3, PO4, POS5, PO, POT, POS
Q.8 | b L3 CO3 PO1, POZ, PO3, PO4, POS, PO6, PO7, POS
c L3 CO4 | POL, POZ, PO3, PO, POS, POT, POS
a L2 Cos | POL, POZ, PO3, POS, POS, POT, POS
0.9 b L4 CO5 POL, PO2, PO3, POS, POS, POT, POS
c L2 CO35 PO1, POZ, PO3, POS, POSG, POT, POS
a L2 CO5 | POL, POZ, PO3, POS, POS, POT, POE
Q.10 b L2 COS PO, POZ, PO3, POS, POS, POT, POS
[ ¢ 14 CO5 | POI, POZ, PO3, POS, POS, POT, POS
Lower arder thinking skills
Blooms | Remembering( Understanding Applying {Application}:
Taxonomy | knowledge):L] Comprehension): L2 13
Levels Higher order thinking skills

Analyzing (Analysis) L4 | Valuating (Evaluation): L5 | Creating (Syrthesis): L6
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First Semester B.E/B.Tech. Degree Examiiintion, Jan./Feb, 2023
Applied Physlcs for CSE Stream

USN [., ' I

Tirme: 3 brs bax. Marks: 100

Nuwtie: 1, Aiwier any FIVE fufl questtons, chosdng ONE full qreeation from each mpdute
1 T Formuba Wand Boak & permitied, o 5

[ F=i=d _ Madule~ 1 S~ il 3
.l | A Fxplain the conssruction and working, of & sermiconducion inser with the | § L3 | Ol
| | help of energy level dingrum. 1 . '
i i - - pilfiie} o e IR o
b. | What s refractive mdox pmﬂj?' Ditcuss (hree different (ypes of optical | 7 | L2 co
fibsres hased on modes of prippgition and refractive index profile, '
Te. The angle of mmlﬁﬁmmﬁtﬂt fibve is 30" when kept in air. Find the | § | L3 €05
angle of acceptance whey it is in u mediam of rafrmatise indew 133,

S
OR :
Q. | =  Define acceptance. angle and murverical aperture, Derive an expression for | 8 | 12 [ con
numerical aperture’ in tenms of refractive indices of core, cladding snd
_ surrounding, e
b, | Derive an sapression for energy densaty-ior & system in thermal equilibrium | 7
| in terma of Einstein’s co-cificient, - o
f < in's Bifraction grating experiment the inser light undgrpocs second ander |
diffraction for diffraction angle 1.48°, The gruting conhsmant is 5.08=10" m
and the distance between thie grating and the sousce kB0 crn, find the wve
length of LASER light, & e -
k. Modale -2

L8444 4244299
iéi
é

L2 | COl

Q3 [n Mwmiugﬂuﬁphgfhﬁnmduﬂ_m*l wave equutiondiscuss the | 9 L2 | €02
saltution for npgti-:hinumdmgpm,,pmmﬁll well ofinfinite height
mhmmanﬁthnmmuih!du?ﬁﬁnﬁm .
3 h|§ukﬂ*mﬂmhﬂﬂgw$pﬁﬁdph‘epﬂmﬂmum 7 12| coa
‘ﬁ | doesn't exists mside the uur:Eﬁﬁ'-._n B
- e | Comipmie the deBroghie wavel for B nCutroR maving with one tenth [ 4 | L3 | €O2
j .pamﬁﬂmi:y of light. € en the miss of e nedtron is 167410 ke
vﬂ - T O o
*ﬁ 04 ‘.‘%Eﬂlﬂ%rﬂiﬂpﬂ"mﬂﬁhﬂrpﬂﬂﬂﬂﬂ;ﬁﬂuﬂhﬂ’mﬂdhﬂlh 9 |L2]|CO2
V h.mmﬁﬁﬂyﬂml.uﬁ&m.um“mmmhmt 2| cm
Broglie wayelength of an electron, *
v Llum,m;w-rmﬁ'mmwm@mi L3 | co2
V ;uumu:'ll s 0.005%. Culeulate ihe corresponding enceridmty in the
| messupement of the posiian
ﬁ =25 =, Module-3
ﬁ Q5 |n E#Ilhlﬂuhuﬂmuiﬂﬂlrdlmentlwmuunﬂan} andty. | 9 | L2 om
~ b Differoriaic beyeen clasaieal and quarium COMpUINE s | 11| 002
a c E:q:hinthj-ﬂﬁ:wdﬂr.ﬂhuwmmmmiﬂhuﬁhﬂ. § | L2| 002
v 3 | Las |
- l!'-:.'.'h'.l q
v.'- =
- -
- |

2

f
v
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Mﬁnmmtmmﬁx fmm e
Describe Jumping and

EFNEEE

o B B

BPTYS102 §
‘l_ '_%____,_-———-_'__- :
12 | €Oz
Q6 [ = A Linear operotor "X’ upﬂ'lmmhmnl X|0) = |'I}md-& _ Find the | 3 -
natrix representaiion of "X oy -.‘
b T Doscribe the working of CNOT gate montioning, Inm representation | 9 1.2 : ﬁ
praid triith table i
e. | Explain the represertition of qubit using Hloe : 6 E ‘
i b o3 =
Q.7 | s | Enumerdc the failures of classical etron theory and d : f 5| L2 ‘
success of quantum free eloction of metls, “ 1| =
b, | Explain DC and AC Josephson rﬂmnﬂmmfmuqlﬁﬁnﬂnf 7 | L2 | CO3 -
 supercorductivity in quanium 2. oy -
o cos| ®
e, | Find the temperniure at i 1% pmhhﬂllﬂhl“l state with on | 5 | 1.3 -
emergy 0.5 €V abowe gy in oceupicd. .
= 1 O _HF ‘
04 |a | Expluin Mﬁmg’s}h i thcvuhﬁun-\'% ritical Geld with | 8 | L2 ;.‘
Imml h?! o® s
b, | Define Fermi factinr. Diseuss the uﬁnhyu@mﬂﬁmwwhhmpum 7|13 -
£ L -
uy %
-
e
-
-
-

§ (12 Cod
" 7 12| cO4
: 5713 CO5| “m
5 =
=
i 'q
-‘-:?.-'1‘ : _ - ! .i
- > 'l'—lm—}_i:“i"l"i':r i L;
E.a-

' ddd

g
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Principles of Programming using C

BPOPS103

LSN E_ I( [ _l—l f | /Feb, 2023

First Semester B.E./B, Tech. Degree E

S, Marks il

Nister 1. Anwieer wiy FIVE fulf questions, ¢ “hiaiedi
& VIt Formada e Heok b pﬁr'ml'i'l"r'l-f.
4 M s Marks , L: Bl ' foinl , O Cvrar mifimies,

@ OOE full spiwstian from garech meadicle,

=l "'rlnllull—l SO | i 15 0
Q. |=  Expluin the organization of Basie computer ‘mouel with neat diigrarm. AL | col
- Explain InputOutput statenent e i 5| L1 | COl
e List and expinin any twe impul-outpit devices. TalL | ol
= OR . . =
02 |m | What are (he basic damtypes availabic in c1 6 | L2 | Co2
b, Define variable. Explain the rules to declure a vanable with example. 6 |12 | COZ
I
T With suiiibie eximple - Eaplain the basi: siycturs of C program. 3 Iu I:{n
u Module - 2 i
Q3 |s. What is iype casting” Explain its types with antable ExAmpie, 6 | L2 | CO2
b, Write o C progrm to find the largsst of three numbers weing Ty | & | L3 | COZ |
DpCtacer,
. i |
. List and explain unconditional branching sturoiments with examphe. % | LI |CO2
- Jﬂ& o - p— e —
Q4 lm Tt the corditional branching stafements In *C°. Dxplain-any two with | & | L1 | COZ
| example, 3 .
b Wmtﬂprnmmmmmwthcmdtqudnﬁ:mu:Mnhy 6| L3 | CO2
accepting the nu:iﬁnum:pﬁuq:pawr{m Tt
. " Explain different iypes of Ioops in C. Jusiify with its symtax and example. | 8 | L2 | ©O2
. Mlocdmle ~ 3 :
Q5 |a E:'Emt an array. Expluin with ¢xample. How to declare and initinkize 2D- | 6| L2 | CO3
¥, .
b. | Wrile & € program o search an cloiment usin binary search techn
| ot g binary search technigque (for | 6 | L3 | ©03
Write @ C program 1o perform addition of 2-dimensional
I 33 ondered mirices A nd B). i bt L Lol b

lof2
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First Semester B.EJ/B. Tech, Degree Examination, Jan/Feb, 2023
Introduction to Electrical Engineering

Time: s Miax, Marks: 100

Ware: I, clamngr agiy FHVE Sl gaeaniooes; rhqqr,n’.ri.- N farld prrrr,ll'.n'nn Framm mah vt
2 FTE Farrisle Hand Nood b pocodined
AN Warky | L Blope S leeal | O Cimirsy pigfeaines,

== 3. 3—] T U T T
Q1 (s With the help of wngle lioe disgram, explain ke eleciricnl power | 6 | L2 |
trussaminsion and distribution syitem '

h. E'_tphil'l the working of hydro power gencration using relevant block | 8 | L2 | GO
iagram

{ & A resistance R 4 connected in series with & parallel circunt comprising of | 6 | L3 | ©O1
twol resistince | 203 pnd RO The total power in the circuit s 70W, when the
applied voltage Is 20%, Cileulne K.

= —— ———

OR
Q2 | . Smwie KirchboITs law for DC circusts. kistrate with an cxamptle., 6 | LT col

b, With the help of block d'ugpmg,'rq:;lain the v.--ucrl-;:q_ of Solar power | B | LY | CO1
EEneratiomn.

¢ | For the corcuit shown im Fig. Q2(ch. find the curent supplied by énch | 6 | L3 | CO2
brattery and power dissipated in 141 reststor.

_ . s
Fig. Q) 3 S P
A STy
Muduke — 2 =}

Q3 e A pure inductor excited by sinusoidal varying AC voltage, show that the | 8 | L2
: s ¢ AC voltage, ol
avemge power consumed by inductor is 2ero. o

b.  Define i) Real power i} Rescovepower i) il
:.h} i P Apparent power | & | L1 | CD1

:..'I'heﬂn'rnuin'n_n"r:n-l'lHfﬂ—j!ﬂm.ﬂlnuihrupplindwlu;th{ﬁﬂ+iul & | L3 | CO2
volis. Determine ) The magnitude of the currest i}y Impedmece
i) The cirevi clements iv) Power faclor  v) Power.

- Dirww the wavelorm of volape, current and pewer

n Tmnummmupunmammmnmnnmunrmhpm 6 |L2
Emmwm_wwhﬁ:uuammnnun“ﬂn

o _ __OR __
Q4 2. Desciop an equation for the pawer conumed by s 1. — C serior cireit | 8 | 12| CO3
€03

- lofy

vwwﬂmﬂm%%ﬁ.mﬁmﬂiﬁﬂi@ﬁiﬂ?ﬁfw
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e [ A circuit hiving 3 resitance of 1201 on inductors of 0u1SH and a (6 |3} Co3

capacitanee of 1003F in serien W connecied ocrss @ |_“U"-". &Hz supply. |
|[.'.‘nluulu1r ) Impedunce 1) Current3H) Pewer factor
ivd Phass dilTerence hetwoen (he curronl and supply voltage v) Power |

Maoduls -}

.ﬁ;-'i;_ n. iﬁﬁﬁri;ﬁi.i'i|-'l-ru.1:.ﬂ;|irﬂll'l[tr.l.l.ill, expluin the conntrugtion of DU genenitor | 8 | L2 | CO4
o3 I — x - - .
b With usual notations, derive the torgue equation of a [0 miator 6 |12 ! 04

e A de, shun p...;ml.;u_ has m shunt fedd windng resistonee of (L it w | & | L3 Cod 1
supphving n load of SkW at o voliage ol 230V, (f its prrrmbgre resiaiince is
02201 and per brush voltage drop is | volt, Caleulate the induced e.m.fof ‘
(Rt

e

——raraer g e o — . — — 1 uH T
Q& | a Give the classification of DC generator, Obtain the expression for EMF | 8 | 12| CO4
gguation of a DU generntor,

b. With neat dingrmims, exploin the tp-:_i..:rl control oF DC shunt molor, 6 | L1 | CO4
e. A 4 pole de shunt motor tekes 22 A from 220V supply. the armature and | 6 | L3 Co4
Feld resistances are respectively 0.50 and 1000 The srmature s lap
connected with 200 conductors. [F the flux per pole is 20 mwb, calculuie
i} Speed . i) Grross longque. '
0 Module -4
0.7 [ a Explain the working principle of single phase ransformer and iis necessity | 8 | L1 | €01
in power systom.
b. Explain the concept of rotating mognetic fiold ina 3 — phase induction | & | L2 | CO2
maotor with nest vecior disgrams.
¢. The maximum-efMiciency at full load and unity power factor of 2 single — | & | 13 | CO2
phasc 23KVA, S00V/1000V, 50Hz, iransformer & 98%. Determine its
efficicney ot 1) 75% load, 0.9 p.£. W) 50% load, 0.8 p.f.
= e .
Q8 |a. With relevant dingrams, explpin the construction of 3 — phase inducton | 8 | 12 | CO2
| mobors. o
I :l}unvr, nn EMF cquation ol single phase transformer with usual notation. & |Ll | CO2
¢ A 3 —phase, 50Hz, 4 pole induction motor, its roor induced emfis 1.5 He | 6 |13 | CO3
frequency. Caleulate i) Synchromousspeed i) Full load slip
fii) Actual speed. ;
iE - ; Muodub - 5
09 |n. | List types of winng sysiem used for domesne / industry, Explam | 6 | L1
| suitable wiring used fu stalicuse, give e schemutic ( circuit diagmm, 4
b. What s Earthing? With a ncat dingram, explain plate carthing. L cos
<. | Define Unit and Tarifl. Explain the two port tariff with its merits and | 6 | L2 | COS

i
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First Semester B.E./B. Tech. Degree Examination, Jan./Feh. 2023
Innovation & Design Thinking

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1.  Answer all the fifty questions, cach question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3. For each question, after selecting vour answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two cireles for the same guestion makes the answer invalid.

5. Damaging/overwriting, wsing whiteners on the OMR sheets are stnctly

prohibited.

1.  What is the usual order of problem solving process?
a) Try, Reflect, Prepare, Define b) Prepare. Try Define, Reflect
¢) Try and Reflect d) Define, Prepars, Try, Reflect

2. Reframing 2 Design Challenge - >
a) Changes the Conceptual view point (o an mdividual perspective
b) Helps us come up with the Right Problem 1o solve. :
¢) Challenges us to-design (o & marketmg focus
d) None of these

3.  Whchof the following s true?

4) By Empathizing one can define a Problem Well, Conceive a creative solution
resulting in break throtigh innovation,

b} Empathy makes you a better human, but mnovation requires out of the box thinking
and rot Empathy

¢) Inventions are sudden Eureka moments and is not really pant of the long=term
Research or Exploration.

d) You becorme-an innovator by Questioning the status Quo.

4. Malini is in the Ideate phase. What Is her goal?
) To Come up with ane or fwo great ideas
b) Ta come up with us many ideas as possible, good und bad,
¢) To-test his best dea
d) To figure out which problem he's geing to solve

5, During which m_gl: would you | start logking for a altiernative ways of viewing the

mmpw b} Define ) lde d) Empathize
s o G J
) Version C - 1 of 5
Q
K>




10.

11.

i1

i4.

BIDTKIS8

Design Thinkers create low-fidelity prototypes o :

a) Test coneepts quickly nnd cheaply with potential users.
b} Validate concepts for the market

c) Build Production-Ready products

d) Estimate the price of production

Which of the following well known consulting firms are offering Design Thinking as
sohution”

1) Mekinsey & Co by BCG

¢) Bain & Co i) All of nbove

Design Thinking is sometimes visualized as a linear process, but it B sctually :
a) Impact fisl b} Incapacitatng ¢) Intentional d) Merutive

Which of the following is NOT purt of the klea-selection process in DT?
a) Grouping Related conoepls together b} ldentifying selection criteria
¢} Deliberating d} Protatyping

Robert researches statistics about the average age of school dropouts. Which stage 15 he
n?

1) Empathize h) Define problem statement

¢) ldeate d) Prototyvpe

Which of the following is the least true about opan innovation?
a) It ageelerates development process

b) It reduces cost of product development.

¢) It helps in creating product different:ation

d} It helps to beat compettion

People Centered Design methodology involves,

a} A problem-solving approach for people that is linear and eonvergent.

b} A problem-solving aporoach which i i5 abstract and Results 1n making people by
products.

¢) A problem solving approach for people that both diverges and converges.

d) None of these

User journey map helps you to,

a) Understand the touch pomi and pain points of the user,
h)-ilerate, iterate, lerate

) ldentily the user’s-credibility, expertise and skills.

“d) None of these

What is the role of the Define Stage of design thinking?
) To define the parameters for a prolotype.

b) To define the audience, you're rying to Keach.

¢) To define the problem that needs to be solved.

d) To define all of the wheas for solving a problem.

What is a problem statement n design thinking?

a) A written expression of problems from the prototype.
b) A written expression ol the problem to be solved.

€) A written expression of problems mside the group.

d awmmq&rminnnfpmhmwhwaﬂ market.
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What purpose does Point Of Veiw (POV) serve in design thindng”
a) It serves as the guide for developing the prototype.

hj It illustrates what your competitors are doing better.

e) 1t is used in the testing phase for receiving feedback.

d) It provides foeus for the design team's brain storming.

In this Point of View (POV) statement, which part 18 considered the insight? “Semor
adults with arthrit is need Easy-Open bottles because they struggle to open childproofl
lids"™

a) Beesuse they struggle to open childproof hds

b) Meed easy-open bottles,

c) Senior citzens

d) None of these

What is Point Of View (POV) in design thinking?

a) A Repont from the design team aboul the product,

h) A Customer’s opinion about interactions with you brand,
) A written statement of a Customer's problem of need.

d) The opinion of the manager about how to brain storm.

Where do the insights in Poimt OF View (POVY) in design thinking come from?
a) Researching other products on the markel.

b Interviewing the general Public on Socal media.

¢) Synthesizing the data that has been gathered

d) Developing ideas during branstormmg

People centered Design is -
a) How the product behaves in the real context.
b} How & product works oh the sutside where-a person comes into contact with it and has

10 use it

¢} All of the aboye
d) None of the above

Design thinking Approach leads to -

a) Technology centric designs. b) Marketing eentric designs
¢) People centric designs d) All of the above
Design-lmpacts the busingss

a) Truc ) False

Empathy is -

a) to understand people and the contexts of their use of a product

b) to know the way the product works
¢) to imagine peaple's behavior in different contexts

d) None of these

Design thinking encompasses -

u) Desirability b} Feasibility

¢) Viability : d} All of these

Which ane of thie following is not the mindset of » design thinker?

a) Quick design b) Prototype refinement

¢) Coding d) Engineer product
e Version C—3 of 5
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26. Which of the following i not the mindset of n Design Thinker? .I
a) Make i b) Learn from Failure 'lq
£) Self oriented dy Empathy ﬁ
=
17, Where does the infarmation fior defining the problem i the define phase come from? ‘1
a) The Terting staje b} The prototype stage -
£) The [deate stage d) The Empathize stnge
28, Crafting a Poim OF View (POV) requires throe key elements including all of these Excepl
which?
o) Diesign b) User ¢} Insight d) Meed
29, Who 18 the recormmended group that you should test out the prototypes with?
a) Your targel cusiomers b People in yiur team
¢ Prolessional designers d) Experts

30. Which 1s not one of the types of prototype of protolyping Mode 17

#) Hormontal prototyvpe b) Vertical Prototype

¢) Dingonal protetype d} Domam prototype
31. What is your First model/design of a product called?

) Draft b) Rough Draft g} Prototype d) Practice Design
32. The final step m the Design process s to

a) Test b) Define ¢) ldeate d) Empathize
33, was IDEQ"s first expression of design thinkmg,

a) Deep-Design b} Deep-Dive c) Deep-Stnicture:  d) Study-Dive

34. Frank Robinson defined and coined the term
a} Design thinking b} Mind mapping = ©) MVP d) Hypothesis

35. Which of the below is incorrect?
a) Peprico has turned Design Thinking inlo its stialegy,
b} Air BoB avouded bankruptcy and tumed profitable using Design Thmking
¢) Cioogle has & 3 step process to bring about new moovation
d) AlLoFthe ahove are correct

36. At what step do you want to complete the POV-Point Of View?

-a) Empathy b) Prototype - e} Define d) Ideate
37. The initial design brief iS provided by,
aj Designer ~ b) User ¢} Bothofthem ) Client
38, What Element of user Experience Design would the design strategy fll under,
a) Interaction Design b) Experience strategy
, ¢} User Hesearch - d) Information Architecture
39. When testing o new proiotype, how many people do you need to interview per Persona to
detect the main usability issues?
a) The more Persona the better -b'.lnzt_l-i':rmpmm
¢} 10 Persans per Persona d) Five Persons per Persona
) Version C — 4 of 5
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40. Readiness of the orpanirntion for strafegse innavation means;
1) Chonging mnovation process in the organimtion
b) Ready for the change in the organizntion
¢) Ready for change in the capabilities of the organgmtion
d) All of the above

41, What s design considerntions are not [inked with?
a) Produgis b)) Services ¢} - Busingss d} Compulers

41, 1o Empathiee; one has o,
a) Olscrve b) Engage ¢) Limten d) All of the above

43, story telling s ihe most compellng type of siory,
a) Aural b) Visunl c) Textuml d) All of these

45. Comprehensive principle of Design thmking does not include
8} Relationship b) Collabaration ¢) Communication  d) Suppliers

46. In design, where does the information used to put together a problém statement come
from? A,
8) The Dﬂfgn Stage b} The Tdeste Stage
c) The Define stage d)} The testing stage

47, MVP stands for,
a) Mmnimum Viable product bl Maximum Viable Product
¢) Most viable product d) None of these

48. Journey mappmng 5 also called mMEppRIng.
a) Path b) Experience ¢} Conduct d) Feedback

49. Which of the fbllowing are NOT tools of Design Thinking?
aj Co-creation b} Prototyping ¢) Mind mapping d) Online marketing

50. A Prototype is a simple enperimental model of & proposed solution used Lo,
8} Test ideas by Validate ideas ¢} hoth d) None of these

LS

44, Design thinker in an organalion ae,
a) People by Employees c) Managers d) All of these

O Version C - 5§ of §
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First Semester B.E./B.Tech. Degree Examination, Jan./Feb, 2023

Innovation & Design Thinking

Time: 1 hr.) [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

Answer all the fifty questions; each gquestion curies one mark.

Use only Black ball point pen for writing / da.rkuning: the circles.

For each gquestion, afterselecting your answer, darken the appropriate circle
corresponding to the ﬁmc guestion number on the OMR sheet.

Darkerung two -:.11-.:"1:5 for the same question makes the answer invalid.
Damaging/overwriting, using whiténers on the OMR sheets are sin ctly
prohibited.

1.

3.

4.

- 5
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L

Design fhinking Approach leads 1o - |
2) Technobyay centric dezigns b} Marketine centric designs
¢) People centric designs dj All al'the above

Design-Tmpacts the business
#) True ; h] Falze

Empathy is - A
a) 10 understand people and the r:unmts.nr their use of a product
b) to know the way the product ¥ works

¢) 1o |mq.3&‘.~ people's hnhmru:rr |:|1 different mm‘*

d) Moneg of these

-

Design thinking enco ﬂﬁﬂﬂ )
Desirbility - b) Feasibility
¢} Viability . ' d) All of these

a

Which one uf:hn,ﬁlhwmg 15 not the mindset of a design thinker?
B) (Quick dl:n.lgn ¥ I b) Prototype refinement
¢) Coding ' d) Engincer product

Which of the following mn-imc mindset of a Design Thinker?
a) Make i h][.mnm:rmFuhn'-u
¢) Self orienied 3 d) Empathy

Where does the infb for defining the problem in the define phase come from?
a) The Terting : b) The prototype stage
¢) The ldeate siage ¢) The Empathize stage

Ph Version D - 1 of §
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People Centered Design methodology mvolves, ,
a] A problem-sohving uppronch lor people that is linear and convergent,
b} A p-mhlm-anlwing apprionch which is abgtract and Results tn making peopie by

products
¢} A problem solving approach for people that both diverges unid converges.

d) Nane of these

User journey map belps you o,

s} Understand the touch point and pain paints of the user.
b) ilerate, iterate, nerate

o) 1dentify the user's eredibility, expertise and skills:

d) Nome ol these

What & the role of the Define Stage of design thinking?
a) To define the parnmelers for a prototype

b) To define the audience, you'rc tryng to Reaach,

¢) To define the problem that needs 10 be solved

d) To define all of the ideas for solving & problem

What is 1 problem statement in design thinking?

a) A written expression of problems from the protoiype
by A written expression of the problem to be solved.

¢) A written expression of problems mside the group.

d) A written expression of problems with targed markel.

What purpase does Point OF Veiw (POV) serve indesizn thinking?
a) It serves as the gaide fordeveloping the prototype.

bj It illustrates what your competitors are doing betiar,

¢) Tt is used in the testing phasc for receiving feedback.

d) It providas focus for the design team’s brain stormmg,.

In this Point 6fView (POV) sutement; which part is considered the insight? "Semior
’ﬂs"l“ with arthrit is need Easy-Upen boitles because they struggle Lo open childproof
e ;‘h
a) Recause they struggle to open childproofhds:
b} Need easy-open bottles.
<) Sénior citizens B
.dj:i}-'[une of these
What is Point Of View (POV) in design thinking?
aj A Report from the design team about the product.
b) A Customer"Sopinion ahout intémactions with you brand.
¢) A wrimen siaiement of 8 Customer’s problem of need.
d) The opinion of the manager about how (o brain storm

iy

Where do the insights inPaint OF View (POV) in design thinking come from?

a) Researching other products oo the market.
b) Interviewing (h | Public on Social media.
d) Dmdhph:g_ i during brainstorming
H‘?‘ Version D =305
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Which of the following is NOT part o the idea-selection proegss in DT?
a) Grouping Reloed concepts wygether b} Identifyiny schection crilena
c) Dieliberating d) Protolyping
Robert rescarches statistics about the average age of sehiol drmopouts, Which stage is be
in'?
a) Empathiie ) Define problem statement
¢) ldesle d) Protolype
What is your Firsr modelidesion of o product called?
4) Deadl ) Roigh [vait ¢} Prototype i) Practice Design
The final step in the Design process i Lo _
n) Test b} Define. ¢} ldeate d) Empathize
& was |DECHs firsl expression of design thinking
) Deep-Design b) Deep-Dive o) DeepBrructure  d) Stady-Dive
Frank Robinson defined and coined the term.
a} Design thinking~  b) Mind mapping g MVP d) Hypothesis
Which of the below w incorrect?

&) Peprico has turned Design Thinking into s strategy.

b} Air BnB avaided banknuptey and furned profituble using Design Thinking
¢) Gosgle has a 3 step process to bring about new innovation

d) All of the above are correct

At what step do you want torcomplele the POV=Point OF View?

&) Empathy b} Broworype ¢) Define d} Ideate
The initial design bricf S provided by, ; :

) Designer g b} User o ¢} Both of them d) Client
What Element ﬁﬁ_ﬁm Experence B:ﬁign would the design strategy fall under,
8} Interactisn Design . b} Experience strategy

¢) User Rescarch %, d) Information Architeciure

When'testing a new pmlnti_i:pr;, how many peaple do you need to interview per Persons to
detect the main usability isdues? 2

&) The mare Persona the better oy 5} 20 Persons per Persona

e) 10 Persons pet Persona d) Five Persons per Persona

Readiness of the organization fn stratepic innovation means,
a) Changug innovatiom process i the organization

b) Ready for the change in the erganization

c) Ready for change in the'capabilities of the organization
d) Allofthe above
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First Semester B.E/B. Tech. Degree Examination, Jan./Feb, z013
Balake Kannada

Time: | hr,] [Minx. Marks: 50

INSTRUCTIONS TO THE CANIMDATES

I.  Answer all the fifty questions, each question carries one mark,

3. Use only Bluck ball point pen for writing / durkening the circles.

3. For each question, after selecting your answer, darken the appropriste elrele
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invahd,

5. Damagingloverwriting, using whiteners oo the OMR sheets arc strictly

prohibited.
1. Which of the fallowin g are the hints for con ::Tlﬂjﬂ'}mlitr: conversation?
a) pronounce the wonls properdy b} use plural fonms (o address others

¢) use simple <entences fof conversotion  d}All of these

Fill in the blank by translating the given English word to Kannada.

2. We:

a) NaaVu b} Nimage

) Mamim ; i} Mimage
3. EBhe:

a) Neenu b} Avanu

uﬁ”lﬂ'lll d}ﬁun_'l_u
d, Thig:

a) Adu by Alk

c) ldu . d}Both o ond b
& Yemm: = -

a) where bl who

<) wha d) when

Complete the following:
6. ™aanu ! Hm:ﬁ;&mu:

) Avala . by} Ninna

ﬂ}.ﬁ"m LN d}ﬁvm
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30, "Ampya” means ﬁ
al) Shelwt b House
c) Wealth 1 Health ﬁ
3. "Shubhodeya™ means “
) Good moming 1) Gsoel gt ~
) Have a nive doy d} Good evening ‘
32, "Good trlai-_ht M i
a) Shubha Raatn - by Danyavadagalu, -
¢) Kshamisi A d) Nane of these .
A3, skl 1™ e 70 | N
a) 1 will notdo by | dontfike ‘
c‘}Hum:mﬂhmmmt ; dy L will da i
Note : Chonse mwm amswer (Q.No. 34 to Q.No. 36) -
M, Hogu: Hngp_nﬁ-._':.:_ Ba: : :
a) Baralla b} Barona W
l:,'ll Hndllﬂ'l.'t x5 d) Bandanu ﬁ
35, Kalegn + inda: Kalegininds = Mane + inda - R o) ‘
a) Maneyalli .y h) Mumcge:
) Maneyinda . &3?; dt Maneyannu -y %
36. Kudi:Kudiyiri ; Haski ;. i : N
) Haskona b) Bel | =
 Hakuudills ~d) Haakin .i
37. “Naanu mlhgimhnnmiddm“ wﬂﬂ&m smmple 4 _ -
a) Naanu collegige Barolla "J'M‘““%E‘m ~
o) Namma collegige Raje Ide- ~ o &) Noanu collcgige Hogidde b >
- " MWWWM:mwm s
hl‘ :— . II_ i
- o l\ o griagyee ‘
39. Tak > ARy, YncepsFratty;
= . m o R o R E
. c)Leg ,q_ o) Huand
o -.r.m.‘ruq.['ﬂ' o1 ‘
o 1yl L Ly i nitr -~
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